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SECTION: 1 GRAMMAR Directions: Read the sentences below carefully. Then choose the correct word for each blank.

A. am having B. was having

C. had

1. It rarely in the desert.
A. rain B. is rained C. is raining D. rains E. has rained
2. . Nomun is in the kitchen at the moment. She pizza.
A. makes B. is making C. making D. make E.is made
3 Where you go on your last holiday?
' A. were B. are C.do D. did E. have
4 You really want to go out with me, ?
' A.do you B. don't you C. are you D. have you E. aren’t you
5 | don’t -need to clean my-room. My sistef it for me; recently.
' A. has been cleaning B. is cleaning C. clean D. cleans. E. has cleaned
6. My father ] poems when he w:as young. It was his hobby.
A. used to write B. used to writing C. use to write D. uses to write E. wrote
7. I a beautiful dream when the alarm clock rang.

D. having E. had been having



10.

11.

12.

13.

14.

15.

Everything was wet because it non-stop for 12 hours.

A. was raining B. rained C. had rained
D. has been raining E. had been raining
A: Have you got a ti;:ket for the concert? B: Y_es, it on Friday.
A. | will have seen B. | going to see C. I'm going to see
D. | seeing E. [ will see
| think, if y-ou work hard all the time, you your goal.
A. will reach B. would reach C. reach
D. would have reached E. will be reaching
My father doesn’t mind a meal without meat for dinner.
A. to have B. having C.to having D. have E.to be having
She is a very serious student, and her grades are in the class.
A. good B. better C. well D. best E. the best
The Statue of Liberty to the United States by the people of France.
A. is given B. gave C.was given D. gives E. was giving
The students told the teacher they the project yet.
A. haven't done B. hadn’t done C. didn't do D. don't do E. aren’t doing
A blender is an electronic machine is used to make shakes and smoothies.

A. this B. when C. who D. which E. what



16. Unless the students had learned English, they the scholarship abroad.
A. won't get B. wouldn’t have got C. wouldn't get D. would get E. will get

My father brought from America shoes.
A. modern wonderful sports B. sports wonderful modern C. wonderful modern sports

D. sports modern wonderful E. wonderful sports modern

17.

SECTION: 2 VOCABULARY Directions: A. Read the sentences below carefully. Then choose the correct prepositions and
linking words for each blank.

18 My grandfather was born 9 May 1945.
A.in B. by C. of D.on E.at
19 The students are doing research people’'s shopping habits.
' A. for B. with C. at D.on E.in
20 The horse-drawn carriages were decorated flowers.
' A. with B. by C. from D.in E. of
The country is a quiet and peaceful place to live, the city is noisy.
21. A. however B. although C.whereas D. in spite E. though
22 Herders need to look after the animals of the bad weather.

A. although B. despite C. even though D. in spite E. however



SECTION: 2 VOCABULARY Direction: B. For each of the following definitions, choose the correct word from A, B, C, D or E.

23. ---the knowledge and skills that you gain for doing particular job

A. an opportunity B. avacancy C. asalary D. aresume E. awork experience
24. ---have a feeling of admiration for each other.

A. respect B. focus C. argue D. complain E. regret
25 ---the time of year when crops are collected.

A. term B. harvest C. month D. collection E. season

---a group of words that usually includes a verb and expresses statement or question.

26. Emm—
A. a passage B.an article C. asentence D. anessay E. astory
Directions: C. Read the sentences carefully. Then choose the opposites for the bold words from A, B, C, D or E.

27 . The river, we crossed yesterday, was deep.

A. narrow B. wide C. low D. shallow E. high
53 My mother doesn't like the people who are too generous.
' A. punctual B. stingy C. dishonest D. reliable E. lazy
29 The main idea of his lecture was how to save money wisely.

A. donate B. enjoy C. earn D. keep E. spend



D. Read the sentences carefully. Then replace the underlined words with suitable phrasal verbs from A, B, C, D, or E

30. We can see the meaning of any new word in the dictionary.

A. look forward to B. look through C. look after D. look up E. look down
31. Please, remove your shoes and hats when you enter the Buddhist temple.

A. take up B. take after C. take off D. take out E. take away

32 Everyone arrived on time for today’s class.

A.turned in  B. turned on C. turned off D.turned up E. turned down
33 | need to connect to the Internet and access my e-mails.
A. pick off B. pick up C. pick out D. pick on E. pick in

SECTION: 3 COMMUNICATION Direction: A. Choose the best response to the conversations.

34. Woman: Has Harry successful at his new venture?
Man: He spent five hours knocking on doors but he didn'’t sell a single magazine.
What does the man say about Harry?
A. He sold no magazines.
B. He sold only one magazine.
C. He has never sold as many magazines as he sold today.
D. He sold five magazines at one house.
E. He didn't use to sell.



35. . Man: Did Bold stop at the store?
Woman: No, he had some money, but not enough to buy groceries.
What does the woman say about Bold?
A. Bold will be able to buy groceries.
B. Bold doesn’t have enough money to buy groceries.
C. He wouldn’t buy groceries even if he had enough money.
D. Bold can't find his grocery money.
E. He bought some groceries.

Directions: B. Look at the road signs carefully. Then choose the correct explanation to the sign from A, B, C, D or E.

36. A. You have to write the law.

B. You should design the road sign.
C. You have to fasten your seat beli.
D. You shouldn’t buckle up.

E. You should follow the road sign.
BUCKLE UP
ITS THE LAW




37.

38.

A. There may be low-flying aircraft overhead.
B. There may be an area for the low aircrafts.
C. The airplane is going to fly highly.

D. There may be flying aircrafts.

E. There may be high-flying aircraft

A. You are allowed to park here.

B. The parking space is available.

C. You can’t drive through the parking.
D. You can't park here.

E. The parking is far from here.



SECTION: 4 READING Directions: Read the passage. Then answer the questions below.

For two months, | have been trying to decide who makes the best ice cream. | have narrowed it down to my four
favorite manufacturers: Randolph Farms, Goodies, Disco, and Twinkle.

Let's start with Randolph Farms. Randolph Farms makes very good ice cream. They have lots of different flavors, but this
doesn't really matter to me. That's because | always get coffee flavor. They make the best coffee ice cream in the world. I've
never had hot coffee (the drink) but people tell me that Randolph Farms coffee ice cream tastes just like the real thing. Also,
Randolph Farms uses all natural ingredients to make their ice cream. This is a good idea, | think.

Second, we have Goodies. Goodies makes excellent ice cream. Like Randolph Farms, Goodies uses all natural
ingredients. They only make three different flavors—strawberry, vanilla, and chocolate—but they make them very well. The
strawberry is amazing. Every bite of it reminds me of the strawberries
that | used to pick behind my old house. The vanilla is wonderful. It is very smooth and has a refreshing, creamy taste. The
chocolate is outstanding. It is made with real cocoa beans from Bolivia. | didn't know where Bolivia is so | decided to look
for it on a map. After hunting awhile, | discovered that it is in South Americal That's a long way to go to get cocoa, so it
must be good. | would say that the only drawback to Goodies ice cream is that they only make three different flavors.

Third, we have Disco. Disco ice cream is okay. They don't have many good flavors. Actually, the only Disco flavor | like is
Bubblegum. It is vanilla ice cream with little chunks of bubblegum in it. After you eat the ice cream, you can blow bubbles
with the gum. That's pretty fun.

Finally, there is Twinkle. Twinkle ice cream is mediocre. The only good thing about Twinkle is that it is relatively
inexpensive. You can buy a whole carton of twinkle ice cream for $6. There are 12 of them in a carton. | think, it is a great
price for lovers!



39.

40.

41.

Which of the following would be the best title for this passage?
A. Strawberry, Vanilla, Chocolate, and Bubblegum Too!
B. The Four Top Ice Cream Manufacturers
C. The Finest Ice Cream in the World
D. Picking the Best Ice Cream Manufacturer
E. The excellent ice-cream in my town.

If the author wanted to get a scoop of coffee ice cream, where would he or she probably go?
A. Randolph Farms

B. Goodies
C. Disco
D. Twinkle
E. Bolivia

Which of the following sentences contains the correct use of a colon (:)?
A. My friends are: sweet, young, and generous.
B. | like: to talk on the phone at night.
C. I'd like: vanilla and chocolate ice-cream.
D. | want a new bicycle: or new roller skates.
E. | have three pets: Toto, Spot, and Rover.



42.

43.

44,

According to the passage, the author likes Randolph Farms ice cream because it
. is all natural

isn't made in Bolivia

. comes in many flavors
. is sweet

with a chewing gum

moow>

In paragraph 3 the author writes, "That's a long way to go to get cocoa, so it must be good.” Using this
information, we can understand that the author believes that

A. Goodies loses money on sales of chocolate ice cream

B. Bolivia makes the best cocoa in the world

C. things that are hard to get must be high quality

D. cocoa from the United States is not very good

E. chocolate ice-cream is made with cocoa-beans

Which of the following ingredients isn't mentioned in the text?
A. vanilla
B. cocoa-bean
C. strawberry
D. yogurt
E. bubble gum



45.

46.

47.

How much does a twinkle ice-cream cost?
A.3%0.5
B.$5
C.%1.5
D. Not enough information is provided
E. $1

An adjective is a word that is used to describe a thing. Which of the following adjectives can't
refer the taste of the ice-cream?
A. sweet
B. creamy
C. fruity
D. bitter
E. chocolate

. According to the author, what is the only drawback to Goodies ice cream?
cheap ingredients

expensive price

mediocre quality

a lack of flavors

expensive ingredients

moow»



2.1.

2.1 Direction: Read the text and fill in the gaps with the correct words.
/ 8 items x1 point each= 8 points /

The town of Keswick, which lies at the heart of the Lake District, is the perfect place for a holiday, and the

Derwent hotel, (a) overlooks the town, is the perfect place to stay.
Robin and Wendy Jackson, who (b) this small hotel three years ago, have already
(c) an excellent reputation. Robin, whose cooking is one of the reasons (d) the Derwent is
so popular, was once Young Chef (e) the Year. The comfort of the guests, (f) the
owners treat almost as members of the family, always (g) first.
Peter Ustinov, who once stayed at the hotel, described it as ‘marvelous '. And the Lake District, which has
so much wonderful scenery and (h) the poet Wordsworth lived, will not disappoint you.

a. 1.where 2.whose 3.when 4.which

b. 1.bought 2.has bought 3.buys 4.was buying

c. 1.had won 2.winning 3.win 4.won

d. 1.what 2.why 3.that 4.because

e. 1.for 2.from 3.of 4.in

f. 1.whose 2.whom 3.where 4.which

g. 1.comes 2.came 3.come 4.coming

h. 1.while 2.which 3.when 4 where



2.2. 2.2 Direction: Use the words in the list to complete these expressions.
/ 8 items x1 point each=8 points /

a. dozen 1.Could you tell me, how muchis a......... of soap?

b. loaves 2.1 am going to give Mrs. Sara a few ...... of home-made jam for picnic.
c. bar 3.He'll buytwo ... of bread.

d. tube 4l'dliketoordera............................... of coffee, please.

e. jars 2.Everyweek lbuy a.........oooin, of eggs.

f. cup BWeneeda.........oooiii . of beans for the salad.
g. can 7 .My coffee is tasteless. Could ladd a.................... of sugar into it?

h. lump 8.Thereisa .......... of toothpaste at home so we don'’t need to buy it.



2.3.

2.3 Directions: Look at the table carefully. Then read the sentences and choose the correct answer
I 4 questions x 1 point each = 4 points /

from a, b, c, or d.

Mark Claire Melanie Emma
a. | Music v X X v
b. | Travel v v X
c. | Skiing X v v
d. | Cooking X X v v

a. Who loves music?

1. Melanie doesn't like music, and neither does Emma.

2. Either Claire or Melanie likes music.
3. Mark is keen on music, and so is Emma.
4. Mark isn't a music lover, and neither is Emma.

k. Who loves travelling?
1. Neither Claire nor Mark likes travelling.
2. Either Claire or Melanie likes travelling.
3. Mark isn't keen on travelling, and neither is Emma.
4 Mark likes travelling, and so does Claire.

c. Who can ski?
1. Mark can ski, and so can Claire.
2. Emma can't ski and neither can Melanie.
3. Claire and Melanie both can ski.
4. Mark can't ski, and neither can Melanie.

d. Who likes cooking?
1. Mark isn't a good cooker, and neither is Melanie.
2. Meither Claire nor Emma likes cooking.
3. Melanie cooks quite often, and so does Mark.
4. Emma is keen on cooking, and so is Melanie.




45 A 2

46 D 2

47 D 2

51 a-4.b-1.c-4.d-2.e "
3.-2.g-1.h-4

5 - |a-5.b-3.c-1.d-8.e; 2

| 2.f-4.g-6.h-7

2.3 | a-3.b-4.c-3.d-4 4

Ne 36B XapHYIT OHoo
1 D 2
2 B 2
3 D 2
4 B 2
5 E 2
6 A 2
7 B 2
8 E 2
9 C 2
10 A 2
11 B 2
12 E 2
13 C 2
14 B 2
15 D 2
16 B 2
17 C 2
18 D 1
19 D 1
20 A 1
21 C 1
22 D 1
2 E 1
A 1

24

25 B 1
26 C 1
27 D 1
28 B 1
29 E 1
30 D 2
31 C 2
32 D 2
33 B 2
34 A 1
35 B 1
36 C 2
37 A 2
38 D 2
39 D 2
40 A 2
41 E 2
12 A 2
43 C 2
44 D 2



